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@ 0.07 x 300 + x = 0.05(300 + x)
@ 0.07(300 + x) = 0.05(300 + x)
(@)0.07 x 300 = 0.05(300 + x)
@ 0.07 x (300 + x) = 0.05 x 300

® 0.07 x 300 = 0.05 x 300
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y—=3=3y+2
@ 300 L#a] AV x 712 AR 4000 €S HAHY 100 Y&
A&8 FAoh. - 4000 - 300x = 100
@) 139 M2 8Fo] y AU wf, 34 2 H9) 8FL 1200
Hdoltt. - y+2 = 1200
@ gt He] dolZtyem 1 AAZYE 9] E79] Zoli= 20 cm o]t
— 4y =20
® A4 xkm 2 3 AIZF B¢ 7 A E 12km o]tk — 3x =12

@ 2y = 1200




A A a(3x—-1) -5 =2+x 2 SI7H 1L o, FHA 0.2(x—a) =

1.1+ 1.5x 9] =2

19 19 19

B

aBx-1)-5=2+x 9 sj7} 10| B& x thAlof 1 & hJghet.
aB3-1)-5=2+1
2a-5=3
2a = 8
Ta=4
02(x-a) =11+15x N a=45 HIT T, x o 3L+t
0.2(x—4) =11+ 1.5x, 2(x—4) = 11 + 15x
2x -8 =11+ 15x
2x—156x=1148
-13x =19
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3e(x+D}+{(2x-4) @1} =8

o1 @ ® 6 @ 7 ® 8

B

{8e(x+1)}+{(2x-4) @1} =8
{2(x+4)-3(x+1)}
+{2(2x-3)-(2x-4)} =8
(—x+5)+ (2x-2) =38

x+3=8

Sox=05H




